45. FEEmRTE (1 EXATLEY)

BfS 2007 (H19)4E6H 1 H

B AHHH T 50. 7
NEAGE | ABE R R4 Py fiE NEaAr | AR E I R4 Py fiE
£ 3| 372 24 = 0 182
1 W w 1,215 25 tiad = 180
9 N B 573 25 = ﬁii 180
3 o H 543 27 & = 179
4 =y Ik 359 28 i - 178
5 & [if] 345 29 H 7a 177
6 I =5 331 29 1] | 177
7 2 )l 309 31 53 B 176
8 1t #F & 306 32 = A 174
9 S JI| 285 33 RE N 172
10 e S 276 34 BOR S 169
11 pias x 269 35 (L % 168
12 |© F 4 254 36 = 5 165
13 val JI 251 37 (L Vi 160
14 i A 236 38 Fk H 158
15 & [if] 233 38 = B 158
16 | 1 224 38 x 45 158
17 K Ik 220 41 e " 153
18 = Ji 215 42 ) = 151
19 £ iig 213 43 £ iy 148
19 o g4 213 44 i ] 145
21 Hr 5 211 45 =3 1 136
22 5 (L 201 46 = R 132
23 i I 186 47 oAk 125
(EFA) ] RS SRS
1200 SEE T 2320)
1000 -
800 +
600 -
400 -
200
) ﬂﬂuu”uuuﬂﬂﬂﬂ Hﬂﬂﬂﬂuﬂ [ipnn HUnunﬂHunHﬂnHuuuuuuu

=F;:g ‘“E—'.“ﬂlh?éfﬂfﬁﬁﬁi*ﬁﬁaE?EEIJJEIIEZ#E_,ﬁRjUi?ﬁg%.%r]f" LLEEEEEERAE 7(.5—'.)2"2141
ZEHAFHERERAREERIBWLIHRE R EMEEARERILEMRILE R B IR AR E A, \lll‘i%%%

D)

CEORHHET RS AR

CRHTE AR SRR < R R =
(7 - /NFE3E) B o7 -

- B B THEROFERREIGEE | B

12, 322, 192'F J5 F TIN7,

AEE, 548,237, 1197 HH,

) AERPE M IRGEAEIE, ERISHE4H 1 H M
5R1943 H 31 H £ CO H4EM DTS
TEFETT,

_45_




